

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for REGNUMBER Quotation

SHPTO

INKCRT07

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BETTY FRANCISCO 304-558-0468

RFQ COPY TYPE NAME/ADDRESS HERE IKON Office Solutions 9400 Bunsen Pluy Lou, Ky 40220

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

DATE PRIN	TED	. O TER	MS OF SAL	E	SHIP VIA		F.O.B		FREIGHT	TERMS	
09/25/											J
BID OPENING DATE:	: 1811 - 1813 - 181	10/24/	2006		100200000000000000000000000000000000000	BID O	PENING TIME	01	:30PM		1
LINE	QUAI	NTITY	UOP	CAT NO	ITÉM NUMBÉF	na sa sa	UNIT PRICE		AMO	TNUC	
historian a tracks	12 20 000002003	12-4394-1394-1994-1	<u> Capatriana (Capatriana)</u>			00.000.000.000		200500.0000.704	100.000.000.000.000.000.000.000.000.000	icja zbytaninih, kant dand sint	1
			BEOH	FCT F	OR QUOTATIO	N					
			I II L Q O		0.00,7,10	1 7					
'	THE PU	RCHASI	NG DI	VISIO	N IS SOLICI	TING B	IDS FOR AN				
	OPEN-E	ND STA	TEWID	E CON	TRACT TO PR	OVIDE	PRINTER				
					T VIRGINIA	STATE	AGENCIES				
	AND PO	LITICA	L SUB	DIVIS	IONS.						
		ABY 55	_ n.r.		AUDATODY DD		LITER TO THE SECOND				
					SION, BUILD		WILL BE HELD	•			
					T, CHARLEST						
OFFICIAL PROPERTY OF THE PROPE					O AM. FAIL						
name and a second					ATICALLY DI						Ì
	FROM B	EING A	WARDE	DAC	ONTRACT.						
	•										
0001			EA		966-24-01-0	0.1			000	000 11	1
0001		1	F-5		700 24 01 0	• •			1809,	<u> 232.4</u>	B
	COMPUT	ER LAS	ER CA	RTRID	GES, INKJET	S & RI	BBONS				
											1
					L MEN CARTE	TRAFA.	DEMANUEATUR	mm			
							REMANUFCTUR ITTED. BIDDE				
					R BID COVER			N O			
							EW" MATERIAL	DO			
-	ſ		1 1		3	t t	MS BID MUST				
	ORIGIN	AL MAN	UFACT	URER	BRAND SPECI	FIED.					
					PRICING SCH						
					SPECIFICAT		BIDS				
					SIGNATURE V. FRS ARE RED		TO TYPE THE				
	DE 213	~ Orse. & 1		20 4. 3.7 3.8	mire sirem see of		1 km 1115m				
	Lagran series en	e da para la sala da	to star and se	ಿಂದರ್ಗ	VEDOE OIDE FOR TERM	5: V(1) (2: (2) (2)	DITIONS (1/2000) SOCIO	a s 2514035111	<u> </u> 	1866: Paul (1886: 1887) 17	1
SIGNATURE /		<u> Maria Mari</u>	aga pangga jayah	OEE.nb	LETE SIDE LOW YELVING	PHONE	PITIONS :	DATE	- 3 N (<u> </u>	1
1-2-10			in -		15	र्र ल्या	6702		53/00		-
Nat! Dive	4	re	''' <i>Д</i> З-	-13:	34400		ADDRESS CH	ANGES	TO BE NOTE	ABOVE	

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. All quotations are governed by the West Virginia Code and the Legislative Rules of the Purchasing Division.
- 4. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125.00 registration fee.
- 5. All services performed or goods delivered under State Purchase Orders/Contracts are to be continued for the term of the Purchase Order/Contract, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods, this Purchase Order/Contract becomes void and of no effect after June 30.
- 6. Payment may only be made after the delivery and acceptance of goods or services.
- 7. Interest may be paid for late payment in accordance with the West Virginia Code.
- 8. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 9. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 10. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 11. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern all rights and duties under the Contract, including without limitation the validity of this Purchase Order/Contract.
- 12. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 13. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, this contract is automatically null and void, and is terminated without further order.
- 14. HIPAA Business Associate Addendum The West Viginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, and available online at the Purchasing Division's web site (http://www.state.wv.us/admin/purchase/vrc/hipaa,htm) is hereby made part of the agreement. Provided that, the Agency meets the definition of a Covered Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division.
- 2. SPECIFICATIONS: Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Complete all sections of the quotation form.
- 4. Unit prices shall prevail in cases of discrepancy.
- 5. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 6. BID SUBMISSION: All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications.

SIGNED BID TO:

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130



MODSE

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

FONUMBER INKCRTO7

PAGE

BETTY FRANCISCO
304-558-0468

07-p-F0

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

المقتدا							Lichida					
DATE PRINTE	ED (o (kg k)	TER	MS OF SAL	E		SHIP V	A	distribution of the second	(F.O.B.		FREIGHT TERMS	
09/25/2	2006						······································	<u></u>			· · · · · · · · · · · · · · · · · · ·	
BID OPENING DATE:		10/24/	2006			N - 12-12-12-12-12-12-12-12-12-12-12-12-12-1	BID	<u>OPENIN</u>	<u> G TIME</u>	01	:30PM	g10,183
LINE	QUAN	ITITY	UOP	CAT. NO	П	TEM NUN	BER		UNIT PRICE		AMOUNT	
I	DOCUME		IS A	VAILA	BLE B	Y SE	S. THI NDING A					
<i> </i>	ALL PR ANY LOMINIMU	CATION	WITH	E ALL IN WE	SHIP ST VI	PING RGIN	CHARGE IA. TH	S TO HERE IS	NO.			
							E ORDER F THE C		CATION	I	The second secon	
	NAM ADD TEL		NUMB		THIS	CON	TRACT I	Is:				
ļ	ATTACH	MENTS:		PRIC		CHED	CING PA					
	EXHIBI	F CONT		, AND	EXTE	NDS	CT BECC	ERIOD	OF ONE	(1)		
:	NECESS DRIGIN	ARY TO AL CON	OBTA TRACT	IN A	NEW C E "RE	ONTR ASON	TIME" TACT OR ABLE TE	RENEW IME" PE	THE RIOD S	SHALL	*	
-	TIME"	THE VE UPON	NDOR GIVIN	T YAM	ERMIN	ATE	DURING THIS CO OF PUR	ONTRACT	FOR A	NY	Objects and the second	
				DOCUM	ENT,	THE	STIPUL/ TERMS,	CONDIT	TONS A			
			and the second of the second of the second					MINITIONS	the second of the second states	والحرافية والمراكب والمترافق والمرافية والمراوي	A CANADA	

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

TELEPHONE
502 GT 6750

ADDRESS CHANGES TO BE NOTED ABOVE



VENDOR

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for REQNUMBER Quotation

INKCRT07

BETTY FRANCISCO

304-558-0468

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

ADDRESS CORRESPONDENCE TO ATTENTION OF

F,O.8 SHIPVIA TERMS OF SALE DATE PRINTED 09/25/2006 BID OPENING DATE: BID OPENING TIME 01:30PM 10/24/2006 UNIT PRICE AMOUNT JTEM NUMBER LINE QUANTITY UOP PRICING SET HEREIN ARE FIRM FOR THE LIFE OF THE CONTRACT. RENEWAL: THIS CONTRACT MAY BE RENEWED UPON THE MUTUAL WRITTEN CONSENT OF THE SPENDING UNIT AND VENDOR, SUBMITTED TO THE DIRECTOR OF PURCHASING THIRTY (30) DAYS PRIOR TO THE EXPIRATION DATE. SUCH RENEWAL SHALL BE IN ACCORDANCE WITH THE TERMS AND CONDITIONS OF THE DRIGINAL CONTRACT AND SHALL BE LIMITED TO TWO (2) ONE (1) YEAR PERIODS. CANCELLATION: THE DIRECTOR OF PURCHASING RESERVES THE RIGHT TO CANCEL THIS CONTRACT IMMEDIATELY UPON WRITTEN NOTICE TO THE VENDOR IF THE COMMODITIES AND/OR SERVICES SUPPLIED ARE OF AN INFERIOR QUALITY OR DO NOT CONFORM TO THE SPECIFICATIONS OF THE BID AND CONTRACT HEREIN. OPEN MARKET CLAUSE: THE DIRECTOR OF PURCHASING MAY AUTHORIZE A SPENDING UNIT TO PURCHASE ON THE OPEN MARKET, WITHOUT THE FILING OF A REQUISITION OR COST ESTIMATE, ITEMS SPECIFIED ON THIS CONTRACT FOR IMMEDIATE DELIVERY IN EMERGENCIES DUE TO UNFORESEEN CAUSES (INCLUDING BUT NOT LIMITED TO DELAYS IN TRANS-PORTATION OR AN UNANTICIPATED INCREASE IN THE VOLUME OF WORK.) QUANTITIES: QUANTITIES LISTED IN THE REQUISITION ARE APPROXIMATIONS ONLY, BASED ON ESTIMATES SUPPLIED BY IT IS UNDERSTOOD AND AGREED THE STATE SPENDING UNIT. THAT THE CONTRACT SHALL COVER THE QUANTITIES ACTUALLY ORDERED FOR DELIVERY DURING THE TERM OF THE CONTRACT, WHETHER MORE OR LESS THAN THE QUANTITIES SHOWN. ORDERING PROCEDURE: SPENDING UNIT(S) SHALL ISSUE A WRITTEN STATE CONTRACT ORDER (FORM NUMBER WV-39) TO THE VENDOR FOR COMMODITIES COVERED BY THIS CONTRACT. SEE REVERSE SIDE FOR TERMS AND CONDITIONS TELEPHONE STI 6750 NATURE E. FEIN 23-0334400 ADDRESS CHANGES TO BE NOTED ABOVE Dinedo



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for RECNUMBER Quotation

INKCRT07

ADDRESS CORRESPONDENCE TO ATTENTION OF::::::

ADDRESS CHANGES TO BE NOTED ABOVE

BETTY FRANCISCO 304-558-0468

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PRINT		- 30 COURT	MS OF SAL	HOROSIAN	SHIP V	A .C.A.S.SSS			FREIGHTTERIVIS
09/25/							ODENTRO	TIME	1.7051
BID OPENING DATE:		10/24/	2006	SECTION STATE			OPENING		1:30PM
LINE	QUAI	VTITY:	OP	CAT NO	ITEM NUN	BER	UNI	I PRICE	AMOUNT
ingistra i i manimani		0.0000.0000000000		030000000000000000000000000000000000000		/		<u> </u>	
	TUE Nb	TOTMAL	CUDA	OF T	HE WV-39	SHALL B	E MATLET	TO THE	
					N FOR SHI				
	NVILED	TO TH	E PHP	CHAST	NG DIVISI	ON. AND	A THIRE	COPY	
					NG UNIT.	,	*******		
			0				1		
	BANKRU	PTCY:	IN T	HE EV	ENT THE V	ENDOR/C	ONTRACTO	R FILES	
					ION, THIS				
	CALLY	NULL A	ND VO	ID, A	ND IS TER	MINATED	WITHOUT	FURTHER	3 1
	ORDER.								
									·
					NS CONTAI				[
	SHALL	SUPERS	EDE A	NY AN	D ALL SUB	SEQUENT	TERMS A	AND	!
					PPEAR ON				
					E LISTS,				
1	1				NCE AGREE AS CD-RO		INCEODIA	NO ANT	
	ELEUIK	ONIC 14	CDION	Such	AS CD-RO	re •			
							İ		
		·	VEND	OR PR	EFERENCE	CERTIFI	CATE		
					ICATION*				
					CE WITH W				
	5A-3-3	7 (DOE	S NOT	APPL	Y TO CONS	TRUCTIO	N CONTRA	ACTS).	
						, nnrer	DENCE E	ארוידי מו	
	1			S MAD	E FOR 2.5	% PREFE	KENCE FL	JK IME	
	KEASUN	CHECK	ED:						
	()	RINNER	TC A	N TND	IVIDUAL R	ESTDENT	VENDOR	ΔΝΠ	
					LY IN WES				
					PRECEDING				1
	1	ICATIO		1					,
					NERSHIP,				
					ND HAS MA				
4	QUARTE	RS OR	PRINC	IPAL	PLACE OF	BUSINES	S CONTIN	MONSFA I	
THE RESERVE OF THE	Specification	bi septimber 1985	, Segration	SEE RF	 VERSE SIDE FOR TI	AMS AND COL	L NDITIONS (1986)		
	V . 5		er e de e faut filosop y			TELEPHONE	CETW 15	DATE	16/23/16

FEIN 23-0334400

TILLE OINGTON



NODZE✓

13

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

SHIPTO

INKCRT07

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF SEC

BETTY FRANCISCO 304-558-0468

RFQ NUMBER

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

RFQ COPY TYPE NAME/ADDRESS HERE

DATE PRIN	TER	JEF	MS OF SALE	S	HIP VIA	S. S. S. S.	O.B.	FREIGHTTERMS
09/25/								
BID OPENING DATE	**************************************	10/24/	Laboratory of the Control of the Con		BID	OPENING	TIME 0	L:30PM
LINE	QUAN	itity:		AT ITEM	INUMBER	ואט	TPRICE	AMOUNT
	WEST V	IRGINI	A FOR F	OUR (4) YE	ARS IMMED	IATELY F	RECEDING	
1			1 1	RTIFICATIO				
				IS HELD BY				
			ŧ :	ATION OR C	1			₹
				ITS HEADQU				
				OUSLY IN W			FUUR (4)	
-	CERTIF		: 1	RECEDING T	HE DATE U	r ints		
			i I	ORPORATION	1			
				ATE OR SUB				
				NDRED STAT HEAQUARTER				
[1		1 1	T VIRGINIA	1			
-				DIATELY PR				
	CERTIF		1 1					
THE PROPERTY OF THE PROPERTY O	B. AP REASON			MADE FOR 2	.5% PREFE	RENCE FO	OR THE	
VI ALMERICA (M. 1871)				ESI <mark>DENT VE</mark>				
7				THE CONTRA				
			! [S WORKING				
			1 1	ST VIRGINI				
	PRECED			SLY FOR TH N OF THIS		RS IMPEL	TAILLY	
	OR	ם אמת ה	TC A 11	NADE CENTRE	VENDOD F	MDL AVTUC	` ^	
				ONRESIDENT RED STATE				
	i		i l	WITH AN AF				
	*			HEADQUART	1			
				WEST VIRGI				
SAME				E R <mark>ESIDENT</mark>			•	
THE PERSON NAMED IN COLUMN NAM				THE CONTRA				
				S OR BIDDE				
				EES ARE RE				
				E REVERSE SIDE FO	OR TERMS AND CON	(DITIONS		
SIGNATURE	I B	> >=			TELEPHONE 6	027011	DATE	0/23/06
TEAP OURE	ctor	FE	23-0	334400				TO BE NOTED ABOVE



ADDOR

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130 Request for Quotation

INKCRT07

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF SECOND SECON

BETTY FRANCISCO 304-558-0468

REQ NUMBER

OH-P-FO

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

FREIGHT TERMS DATE PRINTED TERMS OF SALE SHIP VIA F.O.B 09/25/2006 BID OPENING DATE 10/24/2006 BID OPENING TIME AMOUNT UNIT PRICE LINE . QUANTITY UOP ITEM NUMBER WHO HAVE RESIDED IN THE STATE CONTINUOUSLY FOR THE TWO YEARS IMMEDIATELY PRECEDING SUBMISSION OF THIS BID. BIDDER UNDERSTANDS IF THE SECRETARY OF TAX & REVENUE DETERMINES THAT A BIDDER RECEIVING PREFERENCE HAS FAILED TO CONTINUE TO MEET THE REQUIREMENTS FOR SUCH PREFERENCE, THE SECRETARY MAY ORDER THE DIRECTOR OF (A) RESCIND THE CONTRACT OR PURCHASE PURCHASING TO: ORDER ISSUED; OR (B) ASSESS A PENALTY AGAINST SUCH BIDDER IN AN AMOUNT NOT TO EXCEED 5% OF THE BID AMOUNT AND THAT SUCH PENALTY WILL BE PAID TO THE CONTRACTING AGENCY OR DEDUCTED FROM ANY UNPAID BALANCE ON THE CONTRACT OR PURCHASE ORDER. BY SUBMISSION OF THIS CERTIFICATE, BIDDER AGREES TO DISCLOSE ANY REASONABLY REQUESTED INFORMATION TO THE PURCHASING DIVISION AND AUTHORIZES THE DEPARTMENT OF TAX AND REVENUE TO DISCLOSE TO THE DIRECTOR OF PURCHASING. NOTICE AN ORIGINAL, SIGNED BID MUST BE SUBMITTED TO: DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130 MANDATORY PRE-BID: OCTOBER 11, 2006, 11:00 AM LOCATION: 2019 WASHINGTON STREET, E CHARLESTON, WV 25305 PURCHASING DIVISION BUILDING 15 SEE REVERSE SIDE FOR TERMS AND CONDITIONS ETELHONE SI PLIZO FEIN 23-0334400 ADDRESS CHANGES TO BE NOTED ABOVE



RFQ COPY

TYPE NAME/ADDRESS HERE

11

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for REGNUMBER Quotation

INKCRT07

ADDRESS CORRESPONDENCE TO ATTENTION OF

BETTY FRANCISCO 304-558-0468

INKCRT07 ***** TOTAL:

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

V E NAME / ADDACE	oo naka	SH AN	D POLITICAL SUBDI IOUS LOCALES AS I ORDER	
DATE PRINTED TER	MS OF SALE	SHIP VIA	FØ.B	FREIGHTTERMS
09/25/2006				
BID OPENING DATE: 10/24/	3 8 8 7 8 8 8 7 8 8 4 9 4 6 6 7	BID		:30PM
LINE QUANTITY	UOP CAT NO	ITEM NUMBER	:UNIT PRICE	AMOUNT
BID OPENING PLEASE PROVI TO CONTACT Y CONTACT PERS	DATE:TU TIME:1: DE A FAX N DU REGARDI	umber in case it ng your bid: SO2-671-67 PRINT CLEARLY):	4, 2006 IS NECESSARY	

SEE REVERSE SIDE FOR TERMS AND CONDITIONS 502 671 6750 23-0334400 ADDRESS CHANGES TO BE NOTED ABOVE

THIS IS THE END OF REQ

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

RFQ No.	INKCRT07
V 0 140	

AFFIDAVIT

West Virginia Code §5A-3-10a states:

No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions.

"Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION:

The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

The vendor must be licensed in accordance with any and all state requirements to do business with the state of West Virginia.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit www.state.wv.us/admin/purchase/privacy for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

3CKNOMEDGES the information in this case amount of		
Vendor's Name: TKON Office Solution's		
· · · · · · · · · · · · · · · · · · ·	. 1100	
Authorized Signature: 4 4,	Date: 10 23/06	
- Control (200 org), 10 per or	•	

No Debt Affidavit Revised 02/08/06

Reservation of Rights—In response to your request or invitation. We are pleased to submit this proposal for your consideration. We recognize your right to negotiate and approve the terms and conditions of any contract following award and respectfully reserve the right to do the same. We acknowledge that all contract terms and conditions must be mutually agreed upon by both of us. Our proposal contemplates that both parties reserve the right to review and negotiate appropriate and mutually acceptable terms and conditions in the exercise of good faith. As is customary for transactions of the type contemplated by your Bid, our proposal is based upon the information and assumptions, provided in the Bid and any changes to such information or assumptions, including, but not limited to, creditworthiness, if material, may require a modification. We will be pleased to work with you to promptly finalize mutually acceptable contract terms and, if applicable, provide copies of appropriate contract forms for that purpose.

Item#	Cartridge #	Estimated Quantity	Unit Cost	Total
Hewlett Pa	ckard			
11	51626A	50	\$ 25.86	\$ 1,293.00
22	51629A	90	\$ 25.87	\$ 2,328.30
3	51641A	50	\$ 26.58	\$ 1,329.00
4	51645A	600	\$ 23.49	\$ 14,094.00
5	51649A	90	\$ 26.58	\$ 2,392.20
6	92274A	70	\$ 80.00	\$ 5,600.00
7	92291A	85	\$ 105.38	\$ 8,957.30
8	92298A	45	\$ 82.85	\$ 3,728.25
9	C1823D	99	\$ 26.37	\$ 2,610.63
10	C3900A	35	\$ 121.90	\$ 4,266.50
11	C3903A	50	\$ 70.70	\$ 3,535.00
12	C3906A	50	\$ 53.52	\$ 2,676.00
13	C3909A	70	\$ 151.19	\$ 10,583.30
14	C4092A	60	\$ 46.51	\$ 2,790.60
15	C4096A	55	\$ 78 <i>.</i> 90	\$ 4,339.50
16	C4127X	100	\$ 100.41	\$ 10,041.00
17	C4129X	70	\$ 128.87	\$ 9,020.90
18	C4151A	40	\$ 139.26	\$ 5,570.40
19	C4152A	40	\$ 139.26	\$ 5,570.40
20	C4153A	40	\$ 139.26	\$ 5,570.40
21	C4154A	15	\$ 318.26	\$ 4,773.90
22	C4155A	15	\$ 257.08	\$ 3,856.20
23	C4182X	45	\$ 148.24	\$ 6,670.80
24	C4191A	60	\$ 67.54	\$ 4,052.40
25	C4192A	60	\$ 97.01	\$ 5,820.60
26	C4193A	60	\$ 97.01	\$ 5,820.60
27	C4194A	60	\$ 97.01	\$ 5,820.60
28	C4195A	80	\$ 64.55	\$ 5,164.00
29	C4196A	30	\$ 169.78	\$ 5,093.40
30	C4197A	20	\$ 199.35	\$ 3,987.00
31	C4800A	80	\$ 26.37	\$ 2,109.60
32	C4801A	80	\$ 26.37	\$ 2,109.60
33	C4802A	80	\$ 26.37	\$ 2,109.60
34	C4803A	85	\$ 26.37	\$ 2,241.45

		Estimated	3001244235V			
Item #	Cartridge #	Quantity	Į	Unit Cost		Total
35	C4804A	85	\$	50.78	\$	4,316.30
36	C4805A	80	\$	50.78	\$	4,062.40
37	C4806A	80	\$	50.78	\$	4,062.40
38	C4810A	85	\$	26.37	\$	2,241.45
39	C4811A	40	\$	26.37	\$	1,054.80
40	C4812A	40	\$	26.37	\$	1,054.80
41	C4813A	40	\$	26.37	\$	1,054.80
42	C4841A	40	\$	25.71	\$	1,028.40
43	C4842A	40	\$	25.71	\$	1,028.40
44	C4843A	40	\$	25.71	\$	1,028.40
45	C4844A	45	\$	25.71	\$	1,156.95
46	C4921A	40	\$	26.37	\$	1,054.80
47	C4922A	40	\$	26.37	\$	1,054.80
48	C4923A	40	\$	26.37	\$	1,054.80
49	C5010AN	80	\$	22.78	\$	1,822.40
50	C5011AN	85	\$	17.17	65	1,459.45
51	C5023A	60	\$	54.73	(A)	3,283.80
52	C5024A	60	\$	54.73	\$	3,283.80
53	C5025A	60	\$	54.73	\$	3,283.80
54	C5026A	65	\$	54.73	()	3,557.45
55	C6578AN	300	\$	45.40	\$	13,620.00
56	C6578DN	310	\$	26.37	\$	8,174.70
57	C6614DN	200	\$	24.65	\$	4,930.00
58	C6615DN	140	\$	22.41	\$	3,137.40
59	C6625AN	90	\$	24.39	\$	2,195.10
60	C6628AN	80	\$	25.87	\$	2,069.60
61	C6656AN	420	\$	15.85	\$	6,657.00
62	C6657AN	215	\$	26.37	\$	5,669.55
63	C6658AN	105	\$	19.35	\$	2,031.75
64	C7115A	120	\$	48.41	\$	5,809.20
65	C8061X	145	\$	100.41	\$	14,559.45
66	C8543X	75	\$	216.97	\$	16,272.75
67	C8727AN	125	\$	14.53	\$	1,816.25
68	C8728AN	110	\$	17.04	5	1,874.40
69	C9700A	50	\$	65.15	\$	3,257.50
70	C9701A	50	\$	78.47	\$	3,923.50

		Estimated			
Item #	Cartridge #	Quantity	Į	Jnit Cost	Total
71	C9702A	55	\$	78.47	\$ 4,315.85
72	C9703A	50	\$	78.47	\$ 3,923.50
73	C9704A	50	\$	78.47	\$ 3,923.50
74	C9720A	60	\$	121.93	\$ 7,315.80
75	C9721A	60	\$	164.97	\$ 9,898.20
76	C9722A	60	\$	164.97	\$ 9,898.20
77	C9723A	60	\$	164.97	\$ 9,898.20
78	C9730A	50	\$	176.33	\$ 8,816.50
79	C9731A	40	\$	247.46	\$ 9,898.40
80	C9732A	40	\$	247.46	\$ 9,898.40
81	C9733A	40	\$	247.46	\$ 9,898.40
82	Q1138A	100	\$	120.50	\$ 12,050.00
83	Q1339A	90	\$	160.19	\$ 14,417.10
84	C4836A	45	\$	25.71	\$ 1,156.95
85	C4837A	50	\$	25.71	\$ 1,285.50
86	C4838A	30	\$	25.71	\$ 771.30
87	C9362WN	65	\$	12.12	\$ 787.80
88	C9361WN	70	\$	15.50	\$ 1,085.00
89	C8766WN	70	\$	18.83	\$ 1,318.10
90	C8767WN	95	\$	23.77	\$ 2,258.15
91	C9351AN	55	\$	12.12	\$ 666.60
92	C9352AN	60	\$	13.94	\$ 836.40
93	C4190A	45	\$		
94	Q2670A	20	\$	104.00	\$ 2,080.00
95	Q2671A	20	\$	103.40	\$ 2,068.00
96	Q2672A	20	\$	103.40	\$ 2,068.00
97	Q2673A	20	\$	103.40	\$ 2,068.00
98	Q3960A	30	\$	66.15	\$ 1,984.50
99	Q3961A	30	\$	78.47	\$ 2,354.10
100	Q3962A	30	\$	78.47	\$ 2,354.10
101	Q3963A	30	\$	78.47	\$ 2,354.10
102	Q3946A	30	\$	136.28	\$ 4,088.40
103	Q2612A	40	\$	54.99	\$ 2,199.60
104	Q6511A	30	\$	97.43	\$ 2,922.90
105	Q5949A	100	\$	56.18	\$ 5,618.00

Item #	Cartridge #	Estimated Quantity		Jnit Cost		Total
106	Q2613A	40	\$	56.18	\$	2,247.20
107	Q2610A	40	\$	94.44	\$	3,777.60
108	Q2624A	100	\$	56.18	\$	5,618.00
			· · · · · · · · · · · · · · · · · · ·	ototal	\$	
					\$	471,989.13
Dell					•	
109	7Y743	30	\$	22.00	\$	660.00
110	7Y743	30	\$	22.00	\$	660.00
			1	ototal	\$	
F F E 18 (6 S)					\$	1,320.00
Lexmark						
111	12A1450	30	\$	106.54	\$	3,196.20
112	12A1451	30	\$	152.94	\$	4,588.20
113	12A1452	30	\$	152.94	\$	4,588.20
114	12A1453	30	\$	152.94	\$	4,588.20
115	12A1454	30	\$	112.77	\$	3,383.10
116	12A1455	30	\$	284.61	\$	8,538.30
117	1361750	15	\$	131.03	\$	1,965.45
118	1361751	15	\$	75.92	\$	1,138.80
119	1361752	15	\$	69.80	\$	1,047.00
120	1361753	10	\$	69.80	\$	698.00
121	1361754	15	\$	69.80	\$	1,047.00
122	1380950	20	\$	269.57	\$	5,391.40
123	1382050	40	\$	32.14	\$	1,285.60
124	1382060	45	\$	35.53	\$	1,598.85
125	1382150	100	\$	277.50	\$	27,750.00
126	1382925	110	\$	182.71	\$	20,098.10
127	08A0477	50	\$	131.10	\$	6,555.00
128	10B042C	20	\$	339.17	\$	6,783.40
129	10B042K	20	\$	159.10	\$	3,182.00
130	10B042M	20	\$	339.17	\$	6,783.40
131	10B042Y	20	\$	339.17	\$	6,783.40
132	10N0217	60	\$	15.11	\$	906.60
133	10N0227	60	\$	16.43	\$	985.80
134	12A0725	40	\$	281.66	\$	11,266.40

		Estimated			
Item #	Cartridge #	Quantity		Unit Cost	 Total
135	12A1970	90	\$	25.42	\$ 2,287.80
136	12A5845	100	\$	258.43	\$ 25,843.00
137	12A6835	105	\$	258.43	\$ 27,135.15
138	12A6865	105	\$	289.15	\$ 30,360.75
139	12A7462	20	\$	275.43	\$ 5,508.60
140	12A7465	120	\$	297.25	\$ 35,670.00
141	13T0101	50	\$	133.46	\$ 6,673.00
142	15G041C	30	\$	171.16	\$ 5,134.80
143	15G041K	30	\$	104.16	\$ 3,124.80
144	15G041M	30	\$	171.16	\$ 5,134.80
145	15G041Y	30	\$	171.06	\$ 5,131.80
146	15M0120	85	\$	29.91	\$ 2,542.35
147	15M2971	45	\$	16.13	\$ 725.85
148	15W0900	10	\$	168.61	\$ 1,686.10
149	15W0901	10	\$	168.61	\$ 1,686.10
150	15W0902	10	\$	168.61	\$ 1,686.10
151	15W0903	10	\$	112.77	\$ 1,127.70
152	15W090K	10	\$	· · · · · · · · · · · · · · · · · · ·	
153	16G0055	45	\$	37.09	\$ 1,669.05
154	17G0050	90	\$	23.82	\$ 2,143.80
155	17G0060	80	\$	28.20	\$ 2,256.00
156	17G0152	40	\$	107.10	\$ 4,284.00
157	18L0000	45	\$	36.28	\$ 1,632.60
158	20K0500	15	\$	96.12	\$ 1,441.80
159	20K0501	10	\$	96.12	\$ 961.20
160	20K0502	15	\$	96.12	\$ 1,441.80
161	20K0503	10	\$	84.20	\$ 842.00
162	24015HY/24015SA	100	\$	62.76	\$ 6,276.00
163	4K00199	20	\$	207.34	\$ 4,146.80
164	64015HY/64015HA	20	\$	275.43	\$ 5,508.60
				btotal	\$. ,
					\$ 328,210.75
Epson Inkj	et		ARTH MERCHOOSE		
165	T003011	40	\$	23.74	\$ 949.60
166	T005011	45	\$	28.71	\$ 1,291.95
167	T007201	45	\$	18.01	\$ 810.45

Item #	Cartridge #	Estimated Quantity	Unit (Cost		Total
168	T008201	40	\$	14.58	\$	583.20
169	T009201	40	\$	21.94	\$	877.60
170	T019201	30	\$	21.94	\$	658.20
171	T020201	20	\$	17.86	\$	357.20
172	T032120	40	\$	25.66	\$	1,026.40
173	T032220	40	\$	9.65	\$	386.00
174	T032320	40	\$	9.65	\$	386.00
175	T032420	40	\$	9.65	\$	386.00
			Subtotal		\$	7,712.60
			GRAND T	TOTAL	\$	809,232.48
Rebate for returned cartridges		1000	N/A		N/A	
Repare for returned carriages		1000	IWA		14//-	\
All toner cartidge orders received prior to 2:00 pm shall be delivered the						
next business day. NOTE: This cannot be prior to 2:00 p.m.						
The Eddings day. He is the dame to phore 2.00 p.m.						
1, Leweth & Brund, representing Tran Othice Salutions						
	(print name)	. 0 —		(compan	y nan	ne)
hereby certify, under penalty of law for fraud, that items priced above are new toner/inkjet						
cartridges; these products are not "remanufctured, "compatible", or remade and are the						
brands as specified.						
	1/ 1/ 1/			. (.	1.	
Signature/Da	ate: KU	, 		10/2	3108	<u> </u>
)						